
）

12 － 2

＋ 64

100 －

＋ 75 ）

））

× 4

× 6

× 3

（ 100 + 2 ）

－ （40 × 7

× 5

） × 6（

7 ）

98 × 2 = （ 100 － 2 ）

＋ 5） ×

6） － （2 × 6） =

（100

（100

－

× 3）

（36 × 4） ＋ （64 × 4） = （

× 3） = （

（17 － 7） × 4 = （17 × 4

（25 × = （ 258） ＋ （75 × 8）

□にあてはまる数をかきましょう。

（14 － 4） × 3 = （14 ×3)

＋ ＋ （4 × 5 ）

2） （8 （2 ×7 ）

4） × 5 = （6 × 5 ）

4

）

2 ）

×

－ （7 ×

－ 5 ）100

36

13)

× 212)

11) （25 ）3 = （25 × 3 ） ＋ （5 × 3

102 × 5 =

（50 － 40） ×

（C)TERRAS Co.,Ltd.

= （50 × 7

（12 ×

4)

10)

9)

8)

（2 × 6） = （7) × 6）

6)

85)

－ （5

）

2)

1問　4点計算のきまり　①

1) （8 ＋ 7× = × ＋

3 ） － （4 × 3

7 ）

（6

計算
エース

　
　
月
　
　
日

名
　
前年 点

グレード3 ― 50



60

300

290

180

50

15

20

80

60

70

600

3 ＋ 2 ＋ 1 =

87 ＋ ＋

× 3 =

6

5400

=

=

11

＋ 3

28 ＋ 2

8

=

27 =

600 × 9 =

=

9 ＋

29 × 2 × 5 =

＋ 33

600 × 3 × 3 =

× 25 × 4 =

9 ＋

25 × 4

くふうして、計算しましょう。

2 × 5 × 5 =

30 × 2 × 3 =

10 × 5 =

30 × 6 =

＋

2

6 ＋ 24 ＋

＋

25) 31

（C)TERRAS Co.,Ltd.

24)

＋ 17 ＋ 3 ＋ 9

5 ＋ 12 45 ＋

17)

22)

21)

20)

23)

19)

18)

16)

15)

14)

29 × 10 =

100 × 3 =

6 × 100 =


